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General Instructions :

Read the following instructions carefully and follow them :

(i) This questions paper contains 30 questions. All questions are compulsory.
(it)  This question paper is divided into five sections — Sections A, B, C, D and E.
(iti) Section A — Questions no. 1 to 17 are multiple choice (MCQ) type questions.
(iv) Section B — Questions no. 18 and 19 are source based questions.

(v)  Section C - Questions no. 20 to 23 are Short Answer (SA) type questions.
Answer to these questions shall be written in 80 to 100 words.

(vi) Section D — Questions no. 24 to 28 are Long Answer (LA) type questions.
Answer to these questions shall be written in 120 to 150 words.

(vii) Section E — Questions no. 29 and 30 are Map based questions.
SECTION A

There are 17 multiple choice questions in this section (Q. No. 1 - 17).

All questions are compulsory. 17x1=17
1. Which one among the following is the least populous country ?

(a)  Mexico (b)  Nigeria

(c) Brazil (d) Indonesia

2. Which one of the following is the push factor responsible for migration ?
(a)  Better job opportunities (b)  Unpleasant climate
(c) Peace and stability (d)  Security to life and property

3. Which one of the following is a thickly populated region ?
(a) The Himalayan region (b)  Osaka-Kobe region of Japan
(c) Siberian region of Russia (d)  Central Chile

4, Which one of the following features is correct regarding the gathering
and hunting activities ?
(a)  Practised in moderate climatic regions
(b)  Involves primitive societies
(c) Depends on heavy capital investment

(d)  Depends upon modern technology

64/4/1 3 P.T.O.
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(b) i-1,ii—2,iii-3,iv-4
() i-8,ii—4,iii-2iv-1
d i-2,ii—1,iii—4,iv-3
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(c)  ShicAshrdl d) T
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5. Match Column I with Column II and choose the correct option :

Column I Column I1
1. Transport city 1.  Jaipur
ii.  Mining town 2.  Ambala
iii.  Garrison town 3. Itarsi
iv.  Administrative town 4. Singrauli
Options :
(a) 1-4,ii-3,iii—2,iv-1
(b) 1-1,ii—-2,iii—3,iv—4
(c) 1-3,ii—4,iii—2,iv-1
d i1-2,ii—1,iii—4,iv-3
6. Read the following features of cottage manufacturing and choose the
correct option :
L. Place of manufacturing outside the home
I1. It is the smallest unit of manufacturing

III. Use local raw materials

IV.  Simple tools are used

Options :

(a)  Only I, II and III are correct.
(b)  Only II, III and IV are correct.

(c) Only I, IT and IV are correct.
(d)  Only I, IIT and IV are correct.

7. Which one of the following features is correct regarding nomadic herding ?
(a) Nomadism is a modern commercial activity.
(b) It is practised on permanent pastures.
(c) A wide variety of cattle are reared in different regions.

(d) Nomadism is associated with modern technology.

8. Which one of the following is the easternmost station of the East-West

corridor ?
(a) Guwahati (b) Bhopal
(¢) Kolkata (d) Silchar
64/4/1 5 P.T.O.
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9.

10.

11.

12.

13.

14.
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10.

11.

12.

13.

14.

64/4/1

‘Retail trading’ comes under which of the following activities ?
(a)  Primary

(b)  Tertiary

(c) Quarternary

(d)  Secondary

Which of the following is not true regarding the development of border
roads ?

(a) Integration of people of remote areas with major cities
(b)  Strengthening defence preparedness
(c) Helps in transporting goods to border villages

(d)  Help in developing large scale industries

Which one of the following states has the highest population ?
(a)  Bihar (b)  Uttar Pradesh
(c) Maharashtra (d) West Bengal

Which of the following is the smallest linguistic group in India ?
(a)  Austric (b)  Dravidian
(c) Indo-European (d)  Sino-Tibetan

Which of the following is not a feature of dryland farming ?

(a) It is practised where the annual amount of rainfall is less than 75 cm
(b)  Practised in Black soil areas

(c) Drought resistant crops are grown

(d) Measures are taken to preserve soil moisture

Which one of the following is the feature of clustered settlements ?
(a)  They are fragmented

(b)  They are isolated

(c) Closely built-up area of houses

(d)  Units are known as panna, para, palli etc.
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Read the case study given below and answer Q. No. 15 to 17.
Case Study — Integrated Tribal Development Project in Bharmaur Region

Bharmaur tribal area comprises Bharmaur and Holi tehsils of
Chamba district of Himachal Pradesh. It is a notified tribal area since
215 November, 1975. Bharmaur is inhabited by ‘Gaddi’, a tribal
community who have maintained a distinct identity in the Himalayan
region as they practised transhumance and conversed through Gaddiali
dialect.

Bharmaur tribal region has harsh climate conditions, low resource
base and fragile environment. These factors have influenced the society
and economy of the region. According to the 2011 census, the total
population of Bharmaur sub-division was 39,113 i.e., 21 persons per sq
km. It is one of the most (economically and socially) backward areas of
Himachal Pradesh. Historically, the Gaddis have experienced geographical
and political isolation and socio-economic deprivation. The economy is
largely based on agriculture and allied activities such as sheep and goat
rearing.

The process of development of tribal area of Bharmaur started in
1970s when Gaddis were included among ‘scheduled tribes’. Under the
Fifth Five Year Plan, the tribal sub-plan was introduced in 1974 and
Bharmaur was designated as one of the five Integrated Tribal
Development Projects (ITDP) in Himachal Pradesh. This area development
plan was aimed at improving the quality of life of the Gaddis.

15. Bharmaur Tribal region belongs to which of the following states ?
(a)  Uttarakhand (b)  Himachal Pradesh
(c) Uttar Pradesh (d) Jammu and Kashmir

16. Which of the following tribal communities dominate in Bharmaur region ?
(a) Bakkarwals (b)  Bhils
(c) Gonds (d) Gaddis

17. What is the major aim of Integrated Tribal Development Project (ITDP) ?
(a)  Improving irrigation
(b)  Improving sheep rearing

(c) Improving soils of the region
(d) Improving the quality of life of the Gaddis

64/4/1 9 P.T.O.
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SECTION B
Questions number 18 and 19 are Source-based Questions.

18. Study the given graph and answer the questions that follow : 3x1=3

Changing Pattern of the Composition of India’s Exports

Extent of gap between Exports and Imports in
India’s foreign trade During 2012 — 13 to 2016 — 17

e | B e |
W

1500

Value in Rs. (Crore)

L | I | T
Z012-13 2013-14 2014-15 2015-18 2018-17 (p]

Years

=r=—=FExport —{}— Tmport

Source : Economic Survey, 2016 — 17

(18.1) In which year was the gap between imports and exports the
maximum ? 1

(18.2) When was the gap between imports and exports minimum ? 1

(18.3) In which year had India’s exports shown highest upward trend ? 1

64/4/1 11 P.T.O.
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Note: The following questions are for Visually Impaired Candidates only
in lieu of Q. No. 18.

(18.1) These is a decline in India’s exports of traditional items such as

coffee, cashew etc. Give an appropriate reason. 1
(18.2) Why is there a steep rise in India’s import of petroleum

products ? 1
(18.3) Which sector has the highest share in India’s total value of

exports ? 1

19. Read the given passage carefully and answer the questions that follow : 3x1=3
Methods of Mining

Depending on the mode of occurrence and the nature of the ore,
mining is of two types : surface and underground mining. The surface
mining also known as open-cast mining is the easiest and the cheapest way
of mining minerals that occur close to the surface. Overhead costs such as
safety precautions and equipment are relatively low in this method. The
output is both large and rapid.

When the ore lies deep below the surface, underground mining
method (shaft method) has to be used. In this method, vertical shafts have
to be sunk, from where underground galleries radiate to reach the
minerals. Minerals are extracted and transported to the surface through
these passages. It requires specially designed lifts, drills, haulage vehicles,
ventilation system for safety and efficient movement of people and
material. This method is risky. Poisonous gases, fires, floods and caving in
lead to fatal accidents. Have you ever read about mine fires and flooding of
coal mines in India ?

The developed economies are retreating from mining, processing
and refining stages of production due to high labour costs, while the
developing countries with large labour force and striving for higher
standard of living are becoming more important. Several countries of
Africa and few of South America and Asia have over fifty percent of the
earnings from minerals alone.

(19.1) Explain the main difference between surface and underground

mining. 1

(19.2) Why is open-cast mining the easiest way of mining ? 1

(19.3) Why is shaft mining more risky ? 1
64/4/1 13 P.T.O.
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SECTION C

Questions number 20 to 23 are Short Answer Type Questions.

20.

21.

22,

23.

“The basic emphasis is laid on the relationship between nature and human

beings in all geographical studies.” Explain the statement. 3
(a) Explain why all forms of transport are also referred to as lines of
communication. 3
OR
(b)  Explain why modern society requires speedy and efficient system
of transport. 3

“Petroleum is an essential source of energy for running transport and
industry.” Examine the statement. 3

(a) Explain the causes of negative growth of population in India

between 1911 and 1921. 3
OR
(b)  Explain the causes of rapid positive growth of population in India
from 1951 to 1981. 3
SECTION D

Questions number 24 to 28 are Long Answer Type Questions.

24.
25.

26.

27.

28.

64/4/1

Describe income and welfare approaches to human development. 22 +2 é =5

(a) Examine the major characteristics of modern large scale

manufacturing in the world. 5
OR
(b) “High tech industry is the latest generation of manufacturing in
the world.” Examine the statement. 5

(a) Explain balance of trade with examples and examine the role of

World Trade Organisation (WTO) in international trade. 2+43=5
OR
(b) Examine any five bases of international trade. 5
Explain with examples how watershed management and rainwater
harvesting help in conserving water resources in India. 22 +2é =5
“Urban waste disposal has become a serious problem in India.” Justify the
statement with examples. 5
15 P.T.O.
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Qs ¢

J97 &7 29 T 30 T STERT 97 8 |

29. WER % U MU ToHIfdeh WIAFRA (I8 21 W) H A HFNfcleh A&l
w1 A B,C,D,E, Faa G ¥ fegrn mn 2 | fodl grer bl qgue Fefafead
IR hl TERAT ¥ hIfIT 3T 3T &l 910 3k I @il T8 W@reli 1

fetfe - 5x1=5
A. efequr TRt 1 U SFFaUET Ay ueA

B. HEATH HETENR 1 T~ HEHTR § SIS aTed] Teh Tal

C.  ITEfoTa 1 Uh Yq@ Wl e

D. TR-HTES R (9T @ a1 w3

E. IS US[E U T Teh Y@ &

F. freqa aTfirsa 3T Y 1 T Yq@ &

G. TR § T Y@ g 9o

Fig:  FHECIRET J97 FacT GIRETad qhenferal & g 397 G837 29 & T |

g/
feiciiga & @ fab=g1 aier I941 & I 1T : 5x1=5

(29.1) 3TifeT o forell T ST=Riga a1y w1 AW faifaw |

(29.2) <hIF-HI BT FATCH HEENR hl Y0 HEMETR ¥ Sied] g 2

(29.3) 3Eforan & forll T T@ wgE uoH 1 AW fafau |

(29.4) UR-ATSSNET ITHT 1 Gd Taf &R 1 TIE DHIF-A1 8 ?

(29.5) ITSATT o Teh Y@ TS YL YT & 1 3g@ HIT |

(29.6) forelt ush foeqa anforssr o &Y & w1 9w fofew |

(29.7) UIfhEa™ | fea forseft T Y@ Fgl qoH 1 AW fafeu |

64/4/1 16
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SECTION E

Questions number 29 and 30 are Map based Questions.

29. On the given political outline map of the World (on page 21), seven
geographical features have been marked as A, B, C, D, E, F and G.
Identify any five with the help of the following information and write

their correct names on the lines drawn near them : 5x1=5
A. An international airport in South America

B. A canal linking Atlantic Ocean with Pacific Ocean

C. A major seaport in Australia

D. A terminal station of Trans-Siberian Railway

E. A major area of commercial livestock rearing

F. An area of extensive commercial grain farming

G. A major seaport in Asia

Note: The following questions are for Visually Impaired Candidates only
in lieu of Q. No. 29.

Answer any five questions out of the following : 5x1=5
(29.1) Name any one international airport of Argentina.
(29.2) Which canal links Atlantic Ocean with Pacific Ocean ?
(29.3) Name any one major seaport of Australia.

(29.4) Which i1s the terminal station on the eastern end of
Trans-Siberian Railway ?

(29.5) Mention the major area of commercial livestock rearing in

Argentina.
(29.6) Name any one area of extensive commercial grain farming.

(29.7) Name any one major seaport located in Pakistan.

64/4/1 17 P.T.O.
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30. WA o fu 7T TsHIfdsh WIAFREE (I8 23 W) § Ffafed |@ diies
A 9 fheel wier 1 39 ol g SAfeha ShIfTT 3T Ik 9w foaflT : 5x1=5

(30.1) ey 1 SHEEIT U Alctl L=

(30.2) ufvem sl &1 10 fuferem @ i Sage 9 v R
(30.3) HYTH oh1 UV IcdTeeh T

(30.4) SATNSAT — TAIB-3TTEH @M
(30.5) HYT — dc IMYT HRGHMI
(30.6) HERMS — FHG! I

(30.7) 3199 H FUYH A T

Fig:  FEfEd 3o7 Faa glearaa whenfal & v o7 @I 30 F T W
g/
FHETfcTRaT H & febeg] qier 341 & I G197 5x1=5
(30.1) WY HH FHEE Tcd dTed T 1 I faIRay |
(30.2) Ufvam st o 10 Tuferm @ sifees Se@n gt 7R 1 AW fafEu |
(30.3) HUTE I UV IcHTGh TS hIH-AT § ?

(30.4) SAlSAT AIB-3%h @ forg Ts9 0 fedq @ 2

(30.5) HYU act MY HR@H! fhd TsT | oo g 2
(30.6) HENTIST FH 901 YRd @ fohd d¢ T e 3 2

(30.7) 3199 H FAqUYH Y U 1 919 fAfEu |

64/4/1 18
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30. On the given political outline map of India (on page 23), locate and label
any five of the following seven geographical features with appropriate

symbols : 5x1=5
(30.1) The state with lowest level of population density

(30.2) The city of West Bengal having more than 10 million population

(30.3) The state leading in the production of cotton

(30.4) Bailadila — iron-ore mines

(30.5) Mathura — oil refinery

(30.6) Marmagao — seaport

(30.7) An international airport in Assam

Note: The following questions are for Visually Impaired Candidates only
in lieu of Q. No. 30.

Answer any five questions out of the following : 5x1=5
(30.1) Name the state with lowest level of population density.

(30.2) Name the city of West Bengal having more than 10 million
population.

(30.3) Which is the state leading in the production of cotton ?
(30.4) In which state are Bailadila iron-ore mines located ?
(30.5) In which state is Mathura oil refinery located ?

(30.6) On which coast of India is Marmagao seaport located ?

(30.7) Name the international airport in Assam.

64/4/1 19
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U9 G, 29 & feru For question no. 29

WORLD-POLITICAL

64/4/1 21 P.T.O.
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For question no. 30

’
i S, WA R T-UTRS (TR )
Ve ~
: h Outline M f India (Political
e T utline Map of India (Political)
g 3 o R N
B Aer N
?
-~ L
A \ )
- b
’ Y s
i . e
i - :
e Ay et
'\.J e P {
Fi —eq 7
Ty gl
(." ™~ \t
. 1
; . 2
e 5 s
ra ¥ T
r~ v b
‘ Pag AN
f S f' o P '\_\ -y,
/ ‘? e [ e /.’ - / S d g
7 s i 5 / % :
- § 5 S L Pl SN
'l e - .
.’ i L New -y e o, /!
. / L g -, Pl 4 ' +
g - SR i ot NP e e I N
- P I | " Vot Pl T - Loy,
4 2 alpr Wy TR IR A 4 gl
K ¢ e [T : < Fard
{ : fonfhy [ T e
- T, N H Vo S -’l{ L
i g > T i T 1. i !
] : e _){:'.\ S s 5 ]
Y = ; . TN T Y.
- 7 i \_\- [‘_ . g Lo AR
¥ ‘. S o Ave B - AN
H N i) - A - " ot I ; 5
L =2 Yy -y . o SN li ? !
 — o ¢ o AR ‘ oo H
s o, BT Baew £ A5 N el E
— T i Ly F k) b \ = Ty PR - T { x.‘ '_,lh i W e
o iy 2 [QPEnt M [ ~ L i
v Vo v A r r [ | 1
v e [ N = : 4
i : 8 5 £
- P [ 1 ) K LI | -
S T 3 \ 1\ = o 3
v - s '
e 2 ; oy ) 1 ) \ \
-~ ) » o { ) )
o e e S, F : lr"
42 i i —ey S, DGR o
: B Ty A e TS i
\ ~- r T
~or b y . "
A . H
02 2 ] Nh e
. i ”\‘-\,“_, P\
L SR 2 \ 4
| b § \ . QR
. 5 18 5 P S
: ] 3 P
i o ; !
i 1 WA
~ 9 ot
PRLL A
el wr
LRI A g
wd s i A i
- P g N B
J-.J‘\ —; t \ / v
< { -
e o
$ ' .
: -
‘\4 .0 ’
Y
P @ .
Sk ] i
. ¥ [
o L
i - g )
" s
o 5 / 3
. e N J o
i ..
FA 5 b3 Q
. h-
1 a (\ o
k) -~
)
" L]
; .
: = .t
d ™
k &

64/4/1

Get More Learning Materials Here: &

23

Coscrree €3

@’E www.studentbro.in



Marking Scheme
Strictly Confidential
(For Internal and Restricted use only)
Senior School Certificate Examination, 2023
SUBJECT NAME GEOGRAPHY (SUBJECT CODE 029) (PAPER CODE 64/4/1)

General Instructions: -

You are aware that evaluation is the most important process in the actual and correct
assessment of the candidates. A small mistake in evaluation may lead to serious problems
which may affect the future of the candidates, education system and teaching profession.
To avoid mistakes, it is requested that before starting evaluation, you must read and
understand the spot evaluation guidelines carefully.

“Evaluation policy is a confidential policy as it is related to the confidentiality of the
examinations conducted, Evaluation done and several other aspects. Its’ leakage to
public in any manner could lead to derailment of the examination system and affect
the life and future of millions of candidates. Sharing this policy/document to
anyone, publishing in any magazine and printing in News Paper/Website etc may
invite action under various rules of the Board and IPC.”

Evaluation is to be done as per instructions provided in the Marking Scheme. It should not
be done according to one’s own interpretation or any other consideration. Marking
Scheme should be strictly adhered to and religiously followed. However, while
evaluating, answers which are based on latest information or knowledge and/or are
innovative, they may be assessed for their correctness and due marks be awarded
to them. In class-X, while evaluating two competency-based questions, please try to
understand given answer and even if reply is not from marking scheme but correct
competency is enumerated by the candidate, due marks should be awarded.

The Marking scheme carries only suggested value points for the answers

These are in the nature of Guidelines only and do not constitute the complete answer. The
students can have their own expression and if the expression is correct, the due marks
should be awarded accordingly.

The Head-Examiner must go through the first five answer books evaluated by each
evaluator on the first day, to ensure that evaluation has been carried out as per the
instructions given in the Marking Scheme. If there is any variation, the same should be
zero after delibration and discussion. The remaining answer books meant for evaluation
shall be given only after ensuring that there is no significant variation in the marking of
individual evaluators.

Evaluators will mark( \ ) wherever answer is correct. For wrong answer CROSS ‘X’ be
marked. Evaluators will not put right (v ) while evaluating which gives an impression that
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answer is correct and no marks are awarded. This is most common mistake which
evaluators are committing.
7
If a question has parts, please award marks on the right-hand side for each part. Marks
awarded for different parts of the question should then be totaled up and written in the left-
hand margin and encircled. This may be followed strictly.
8
If a question does not have any parts, marks must be awarded in the left-hand margin and
encircled. This may also be followed strictly.
9
If a student has attempted an extra question, answer of the question deserving more
marks should be retained and the other answer scored out with a note “Extra Question”.
10
No marks to be deducted for the cumulative effect of an error. It should be penalized only
once.
11

A full scale of marks 70 (example 0 to 80/70/60/50/40/30 marks as given in

Question Paper) has to be used. Please do not hesitate to award full marks if the answer

deserves it.

12

Every examiner has to necessarily do evaluation work for full working hours i.e., 8 hours

every day and evaluate 20 answer books per day in main subjects and 25 answer books

per day in other subjects (Details are given in Spot Guidelines).This is in view of the
reduced syllabus and number of questions in question paper.
13

Ensure that you do not make the following common types of errors committed by the

Examiner in the past:-

e Leaving answer or part thereof unassessed in an answer book.

e  Giving more marks for an answer than assigned to it.

e \Wrong totaling of marks awarded on an answer.

e \Wrong transfer of marks from the inside pages of the answer book to the title page.

e \Wrong question wise totaling on the title page.

e \Wrong totaling of marks of the two columns on the title page.

e Wrong grand total.

e Marks in words and figures not tallying/not same.

e \Wrong transfer of marks from the answer book to online award list.

e Answers marked as correct, but marks not awarded. (Ensure that the right tick mark
is correctly and clearly indicated. It should merely be a line. Same is with the X for
incorrect answer.)

e Half or a part of answer marked correct and the rest as wrong, but no marks awarded.
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14
While evaluating the answer books if the answer is found to be totally incorrect, it should
be marked as cross (X) and awarded zero (0)Marks.

15
Any un assessed portion, non-carrying over of marks to the title page, or totaling error
detected by the candidate shall damage the prestige of all the personnel engaged in the
evaluation work as also of the Board. Hence, in order to uphold the prestige of all
concerned, it is again reiterated that the instructions be followed meticulously and
judiciously.

16
The Examiners should acquaint themselves with the guidelines given in the “Guidelines
for spot Evaluation” before starting the actual evaluation.

17
Every Examiner shall also ensure that all the answers are evaluated, marks carried over to
the title page, correctly totaled and written in figures and words.

18
The candidates are entitled to obtain photocopy of the Answer Book on request on
payment of the prescribed processing fee. All Examiners/Additional Head Examiners/Head
Examiners are once again reminded that they must ensure that evaluation is carried out
strictly as per value points for each answer as given in the Marking Scheme.
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MARKING SCHEME-2023

(ANNUAL EXAMINATION)
SUBJECT- GEOGRAPHY-029
PAPER CODE- 64/4/1 SET-1
MM-70
Q EXPECTED ANSWERS/VALUE POINTS Page No. | Distribution
No. inTB Of Marks
SECTION A
QUESTION NO. 1-17 ARE MCQ’S
1. | (a) Mexico Pg. 8 1
T.B-1
2 | (b) Unpleasant climate Pg. 12 1
T.B-1
3 | (b) Osaka-Kobe region of Japan Pg. 10 1
T.B-1
4 | (b) Involves primitive societies Pg. 31 1
T.B-1
5 | W-03), @-@, G@-), e)->Q) Pg. 36 1
T.B-2
6 | (b) Only II, III and IV are correct. Pg. 49 1
T.B-1
7 |(©A wide variety of cattle are reared in different Pg. 33 1
regions.
T.B-1
8 | (d) Silchar Pg. 115 1
T.B-2
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9 | (b) Tertiary Pg. 57 1
T.B-1
10 | (d) Help in developing large scale industries. Pg. 116 1
T.B-2
11 | (b) Uttar Pradesh Pg. 1 1
T.B-2
12 | (d) Sino-Tibetan Pg. 10 1
T.B-2
13 | (b) Practised in ‘Black soil areas’. Pg. 45 1
T.B-2
14 | (c) Closely built up area of houses Pg. 33 1
T.B-2
15 | (b) Himachal Pradesh 1
16 | (d) Gaddis 1
17 | (d) Improving the quality of life of the Gaddis. 1
SECTION B
Question No. 18 &19 are source based
18 | (18.1)In which year was the gap between imports and
exports the maximum ?
2012 -13 '
(18.2) When was the gap between imports and export
minimum ? 1
2016 — 17
(18.3) In which year had India’s exports shown
highest upward trend?
2013 -14 '
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FOR VISUALLY IMPAIRED CANDIDATES ONLY :

(18.1) There is a decline in India’s exports of
traditional items such as coffee, cashew,etc.
Give an appropriate reason.

1. Due to tough international competition.
1. Any other relevant point.
Any one point.
(18.2) Why is there a steep rise in India’s import
of petroleum products.
Because it is used not only as a fuel but also as an
industrial raw material.

(18.3) Which sector has the highest share in
India's total value of exports ?

Manufacturing sector.

Pg. 125 1
T.B-2
Pg. 126
T.B-2 1
Pg. 125 1
T.B-2

19

(19.1) Explain the main difference between surface
and underground mining .

1. Surface mining is cheapest while underground
mining is costly.
1. It 1s practiced when the mineral is found

close to the surface while underground
mining 1s practiced when the mineral is
found deep below the surface.

1. Surface mining is safe while underground
mining is risky.

iv. Surface mining is called open-cast or strip
mining, whereas, underground mining is
called shaft mining.

v.  Any other relevant point.

Any one of the above point.

(19.2) Why is open cast mining the easiest way
of mining?
Because it occurs close to the surface.

(19.3) Why is shaft mining more risky?

It is underground mining,therefore, Poisonous
gases, fires, floods and caving in lead to fatal

accidents.
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SECTION C

20

The basic emphasis is laid on the
relationship between nature and human
beings in all geographical studies.” Explain
the statement.
1. The Earth is the home of mankind.
1. All natural phenomena that take place
affect human beings.
1i. Humans also modify natural
environment.
1v. There 1s inter-relationship between
nature and man.
v. Any other relevant point.
To be assessed as a whole.

Pg. 3-4 3

T.B-1

21

(a) Explain why all forms of transport are also
referred to as lines of communication.

1. Communication is carried on through means of
transport also.

1. Earlier, messages were carried by man,
animals, roads, boats, etc.

111. Transport network makes communication
fast and efficient.

1iv. Now they are carried by modern and fast
means of transport like air transport.

v. So all forms of transport are considered as
lines of communication.

vi. Any other relevant point.

Any three points to be explained.
OR

(b) Explain why modern society requires speedy and
efficient system transport?

1. Fast and efficient means of transport are
required to transport people, materials

and manufactured goods from one location

Pg. 58 3X1=3

T.B-1
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to another in a very short time.

11. They want quick dessemination of
messages and quick results.
1.  Speedy and efficient system of transport

helps in the production, distribution and
consumption of goods.

1v. To save time man is trying to develop
speedy system of transport.
V. At every stage in this complex system,

value of the material is significantly
enhanced by efficient means of

transportation.
. . Pg. 58
V1. Any other relevant point.
. . T.B-1 3X1=3
Any three points to be explained.
Petroleum is an essential source of energy for running
transport and industry.’Examine the statement.
22

1. Petroleum is an essential source of energy

for all types of internal combustion engines.
1. Today automobiles, railways and airways are

highly dependent on petroleum.
ni. It 1s used as raw material in many

industries.
1v. The petroleum by-products provide the raw

material for many industries like, Synthetic

fibre, medicines, fertilizers, rubber, Vaseline, etc.

. Pg. 80
v. Any other relevant point. 3x1=3
T.B-2

To be examined by giving any three points .

23 | (a) Explain the causes of negative growth of
population in India between 1911 and 1921.

1. High birth and high death rate lead to low
or at times negative growth rate.

1. Poor health and medical services.
111. Spread of epidemics.
1v. Iliteracy of people and inefficient distribution

system of food and other basic necessities
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V. Impact of First World War. . 313
vi.  Any other relevant point. & x4
Any three points to be explained. T.B2

OR
(b) Explain the causes of rapid positive growth of
population in India from 1951 to 1981.
1. Rapid fall in mortality rate.
1. Birth rate remained high.
11. Improvement in health and living conditions of
the people.
1v. Increased international migration from Tibet,
Bangladesh, Nepal and Pakistan. Pg. 7 3x1=3
v. Any other relevant point. T.B-2
Any three points to be explained.
SECTION D
24 Describe Income and welfare approaches to human- 2.5+2.5=5
development .
Income approach :
1. It 1s the oldest approach.
1. Human development is seen linking to
income.
1.  Level of income reflects level of freedom
that people enjoy.
1v. Higher level of income means higher level
of human development. Po 26
V. Any other relevant point. &
T.B-1 2.5
To be assessed as a whole.
Welfare approach :
1. Human beings are supposed to be the
beneficiaries or targets of all kinds of
developmental activities.
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1. It argues for higher level of government

expenditure on health, education and
other facilities.

11. People are not the participants in development but
only the passive recipients.

iv. Government is completely responsible for the
level of human development.

v. It is government’s responsibility to maximise

expenditure on people’s welfare.

Pg. 26 2.5
vi. Any other relevant point. TB-1
To be assessed as a whole.
(a) Examine the major characteristics of modern
25 1 1 facturing in the world
arge scale manufacturing in the world .

1. Large scale manufacturing involves a large

market.
1. These industries use a large variety of

raw materials in huge quantity.
111. It involves specialised workers and

division of labour.
1v. It requires enormous supply of power.
V. It involves advanced technology,automation

and assembly line mass production.
V1. These industries require vast capital.
vil.  Technological innovations through high Pg-45,46

level of research and development(R&D)

1s involved. &49 6X1=5
viil. Any other relevant point. TB-1

To be examined by giving any five points.

OR
(b) ‘High tech industry is the latest generation of
manufacturing in the world.” Examine the
statement.
1. It involves the application of research and
development (R&D).
11. It is of advanced scientific and engineering
character.
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iii. Professional (white collar) workers are employed
in large number in these industries.

iv. It is based on computer-aided designs (CAD).

v. Chemicals and pharmaceuticals are notable
examples of this. Pg-53

vi. Any other relevant point.
TB-1 5X1=5
To be examined by giving any five points.

(a) Explain balance of trade with examples and
26 2+3=5

examine the role of World Trade Organization (WTO)

1n international trade.
Balance of Trade:

1. Balance of trade records the volume of goods
and services imported as well as exported by a
country to other countries.

1. If the value of imports is more than the value of
a country’s exports, the country has a negative
or unfavourable balance of trade.

11i. If the value of export 1s more than the value of | pg g5
1imports then the country has a positive or
favourable balance of trade. TB-1 2

(In case the candidate mentions the example of
any country in the above-mentioned context, should
also be considered.)

To be examined as a whole.

Role of World Trade Organisation (WTO) in
international trade.

1. It ensures free and fair trade amongst the member

nations.
11. It sets the rules for global trading system. Pg-85 &
111. It resolves the disputes between the member 86
nations. 3x1=3

1v. It also covers trade in services like TB-1
telecommunication and banking etc.
v. It also deals with the issues like intellectual rights.

vi. Any other relevant point.
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To be examined by giving any three points.

OR
(b)Examine any five bases of international trade.

1. Difference in natural resources;Like, difference
in Geology, relief, soil and climate. Pg-83
11. Population factor.; Like cultural factors and size
. TB-1 5x1=5
of population.
1.  Stage of economic development.
iv.  Extent/level of foreign investment.
V. Means of transport.
vi.  Any other relevant point.
To be examined by giving any five points.
Explain with examples how watershed
21 management and rainwater harvesting help in (2.5+2.5=5)
conserving water resources in India.
Watershed Management
1. Watershed Management is a way of efficient water
management.
1. It includes conservation, regeneration and
judicious use of all natural and human
resources with a watershed area. Pg-66

111. It involves prevention of runoff. TB-2 2.5
iv.It helps in storage and recharge of
groundwater through various methods like
recharge wells percolation tanks etc.
v.Examples of watershed management:
Haryali ,Neeru-Meeru & Aryaya Pani Sansad.
vi. Any other relevant point.
To be examined as a whole.

Rainwater Harvesting

1. Rainwater harvesting is an effective method of
recharging aquifers.

1. Itis a low cost and eco-friendly technique of
preserving water.

111. Rainwater can be preserved and guided to bore-
wells, pits or wells to recharge the underground
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water .

1v. It improves the quality of groundwater, increases
the groundwater table, prevents flooding & soil
erosion and arrest the salt water intrusion in the
coastal areas.

v. Examples of rain water harvesting: Service wells,
Recharge wells, Tanka/ Kund. Check dams, Rooftop Pg-66
rainwater harvesting etc. TB-2 2.5

vi. Any other relevant point.
(To be examined as a whole.)

‘Urban waste disposal has become a serious

problem in India. justify the statement with

examples.

1. The towns are overcrowded and congested.

11. Enormous amount of solid waste is generated

everyday and remains either uncollected or the
bulk of this waste end up in the landfills.

28

1i.  Inadequate methods of waste disposal lead to
serious health and sanitation problems.

1v. Lack of proper place for dumping of urban
waste material.

V. The untreated garbage dumped on municipal

land ferments and poses many problems. Like,
toxic gases creating obnoxious smells and
harboring of flies and rodents which act as the
carriers of many diseases.

Vi. Disposing industrial waste into rivers and
water bodies cause water pollution.

vil.  Industrial waste dumped on open land leads to
pollution of ground water due to seepage of
chemicals .

viili. The huge turn out of ashes and debris from
industries, thermal power houses and building | pg.136-

constructions or demolitions have posed serious 137
problems. 5x1=5
IX. Any other relevant point. TB-2

To be justified by giving any five points.

29 | For Visually Impaired Candidates Only.

(29.1) Buenos Aires airport
(29.2) Panama Canal
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(29.3) Sydney/Melbourne/Perth(Any one)

(29.4) Vladivostok station

(29.5) Pampas

(29.6)Veldts/Prairies/Pampas/Steppes/Downs/
Canterbury Plains. (Any one)

(29.7) Karachi

Any five to be examined 5x1=5

For Visually Impaired Candidates Only.
30 (30.1) Arunachal Pradesh

(30.2) Kolkata

(30.3) Gujarat

(30.4) Chhattisgarh

(30.5) Uttar Pradesh

(30.6) Western Coast/ Goa coast
(30.7) Guwahati airport

5x1=5

Any five to be examined
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WORLD-POLITICAL

PANAMA CanAL 4B/

29.Any five out of seven items to be evaluated.

For question no. 29

64/4/1 64/4/2 64/4/3
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30. Any five out of seven items to be evaluated.

64/4/1 64/4/2 64/4/3
a1 |, 30 % fore For question no. 30
St WA 1 YA (i)
F ~ o R ]
. i S Outline Map of India (Political)
N
a \ l‘-l
\ \ ‘ l
LN
B W
3 "*'\‘ i
NI ARUNACHAL PRADESH
F 2 ; \-\
p ': . "".’.\\_, ., \'\.\J"'\ 30-' .
iV I W i
- - \ ] N "'I \aw .
o N TR ~a - 7 /
e Tapwl Y e/ ""Wy p
il .’30.5 \.‘,-‘,..1- A .,',—(
3 Co-MATOR e 830,

©
>

s b

Get More Learning Materials Here : &

@ www.studentbro.in



Get More Learning Materials Here : & m @ www.studentbro.in



	Geo - 10.pdf (p.1-23)
	Geo - 10  answers.pdf (p.24-40)

